
Formula sheet

Math & numbers:
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Rotation: we use radians
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1-D motion:
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2-D motion:

~r = x(t) ı̂ + y(t) ̂
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Force:

Σ~F = ~F net = m~a

ΣFx = max
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Fgrav = mg = weight
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Work-Energy-Potential:
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Momentum, etc.:
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Isolated systems: ~p , E=K+PE, L are all conserved.

Static equilibrium:
P
F =0 and

P
τ=0 about any axis.

Elastic collision: KE and p are both conserved.

Inelastic collision: only p is conserved, not KE.

Derived unit Symbol equivalent to

newton N kg·m/s2

joule J kg·m2/s2 = N·m
watt W J/s=m2·kg/s3


